3. EHXHESNTITEE (HHSEAR1IHD S>HM6E3A31IB £ T)
(BLNXEAEEZABEARZI T, REBEBLOTNEFHX DL ICIBIETZ2HDTY, )

(8 : )

& =] £ & ]
# A AT S UTA 3,144,862
= FHORIA 53.889
%= | iy BRI BTN 0
—BFA A 39,382
NI T N 1,100,250
Iz LT 38533
L R 110,700
BTSN 4,487,616
% AEBE 2,899,095
# | X |gamrens 1,242,829
& | H | EERETH 403,509
I HEETFHES X HET 4,545,433
%3] A 57,817
X BT S A 4251
BEBES NI =L /\ 62,068

i & =] £ e LE]
% MR RS EUA 0
% MR IE BT U 0
w | |z 0
= | N |B2BEAES| HFEEEDRRINA 0
o | e S B A AR 750,000
B MR RE TFSESINAST 750,000
o | [rEsEms 150,974
L | % [BEmEmEE 126.379
2 | m FB2EEAREF| YIS EEERALTH 0
% JBAEE R F | Y4 E B ERA T H 560,000
% TR EREE S ES T HET 837,353
n =3 A 87,353
+ AT S 1,201
IR RE T ES N =5 /\ 86,152
Nt (HBEHESINT ZE + R e S E I E4E) A 148,220

=l =] % % %8
EAETZFIA 0
BT %A 0
HEERBINA 100,000
FISEAREF| YIFEEERFUINA 0
BG5S LR E S E RN 0
Iy | S BRI A 5,950
% A v == AEION 3,407
o Y 2T AU 205.311
BERITEEY £ AUA 74,556
fte st 389,224
D SHA B - BEHEUNA 18
sz BEEEIENA 0
% Z DD EFESINAGT 389,242
BASERELH 111,632
= BmEEAE AT H 0
K EBISEAREF| UIFEEERALTH 0
2 FASEAESBHTEESH 0
- HESTH 3,106
= x| ZotEEEESXH 199
& i BHEMETITH 3,815
| e 5,924
+ A X 142,218
BEERITEEY £ H 83,145
INat 350,039
BEAESEN BT H 7,965
Z DD EEFE ST HET 358,004
=3 31,238
AT SE A 110
Z DD EFE SN ZE5E 31,128
THEEDOEREE UNEt+ Z DO EBES N Z%E) A 117,092
R EERBRT I EE 638,534
DEEFREIINES 521,442

13






